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13. Liza has soma boxes that are all cubes of the same size.

She usas four of the boxes to make a pile with a height of T2em.

She puts one more box on top of the pila.

T2Cm

Work out the height of the pile of five boxas.

\

cm




The diagram shows a square with a perimeter of 12cm.

Six of these squares fit together to make a rectangle.

What is the area of the rectangle?

You must give the correct unit with your answer.

Mot drawn
accurataly

Mot drawn
accuratety




5. Look at the shadad shapas.

L
T
OGO

What is the of 5 B?
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10. Four squares join
together to make a bigger square.

{a) Four congruent triangles join 1\ .
together to make a bigger triangle.

Draw two more tnangles to complete
the drawing of the bigger triangle.

T mark

{b} Four congruent trapeziums join to make a bigger trapezium.

Draw two more trapeziums to complete the drawing of the
bigger trapezium.

\

1 mark’



ic) Four congruent trapeziums join together to make a parallelogram.

Draw two more trapeziums to complete the drawing of the parallelogram.

x a

1 mark’



17

The shapes below are drawn on square grids.

e, |

\

h d

\

N

shape A

shape B shape C

{a) ls shape A an equilateral tnangle? Tick (v )Yes or No.

N
\

Explain your answer.

Yes

{b} Is shape B a kite?

N\
\

Explain your answer.

Yes

{c} Is shape C a square?

N\
\

Explain your answer.

Yes

Mo

"% mark’

Mo

| mark

Mo

"% mark’




Look at the rectangla.

dcm

The total area of the rectangle is 40cm?

Work out lengths x and v

\

6.1cm

Biot drawn
accuratahy




17 The diagram shows a square.

Two straight lines cut the square into four rectangles.

The area of one of the rectangles is shown.

2cm

Work out the area of the rectangle marked A.

\

12cm?

Mot dranwm
sccurately

Fmarks



16.

Look at the right-angled triangle ASC.

The square fits exactly inside the triangle.

Work out the sizes of angles x, y and




17. The diagram shows two isosceles triangles inside a parallelogram.

Mot drawn accurataly

{a} On the diagram, mark another angle that is 75°

Label it 75°

T mark

{b} Calculate the size of the angle marked &

Show your working.



17 The drawing shows how shapes A and B fit together to make a
nght-angled trianglo.

Work out the size of each of the angles in shape B.

Write them in the cormrect place in shape B below.

Mot drawn
accurately

=Py



13. The diagram shows triangle PQR.

Work out the sizes of angles a, b and ¢

\

1 mark’
1 mark

1 mark



22. This shape has been made from two congruent isosceles triangles.

ﬂ Mot draven
accurately

What is the size of angle p?

\

2 marks



20. Tha diagram shows three straight lines.

Work out the sizes of angles a, band ¢

Give reasons for your answears.

b = “ becausa

L= “ becaussa




